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Match-up:  ( 1 point each )
For each numbered term, enter the letter corresponding to the definition that best matches the term.

____ 1- air pressure

A- The leading edge of the rain-cooled gusty air preceding a thunderstorm.
____ 2- condensation nuclei
B- The outer layer of the atmosphere overlying the troposphere.
____ 3- troposphere

C- The top boundary of the troposphere.
____ 4- tropopause

D- The portion of the atmosphere next to the Earth’s surface.
____ 5- stratosphere

E-  Tiny solid and liquid particles that water vapor can condense on.
____ 6- gust front

F-  The cumulative force of a multitude of air molecules colliding with a unit 





surface area of any object in contact with air.
____ 7- mesosphere

G- A boundary that is located 80 km above the Earth’s surface.
____ 8– mesopause

H- The layer of the atmosphere located between the thermosphere and the 






stratosphere.
____ 9- thermosphere

I-  A boundary that is located about 50 km above the Earth’s surface.
____ 10-stratopause

J- The top layer of our atmosphere that starts at about 80 km altitude.
Short Answer:  ( 5 points each )
11)  What causes rain clouds to form?   

_____________________________________________________________________________________

12)  What causes clouds to move from place to place?  _____________________
13)  Describe what happens to the temperature of a gas when the volume of the gas increases.

_____________________________________________________________________________________ 
14)  Describe what happens to the temperature of a gas when the gas is compressed.

_____________________________________________________________________________________

15)   In your own words, explain air pressure.


_____________________________________________________________________________________

16)   Describe what causes a downburst.


____________________________________________________________________________________

17)   Describe the vertical motion of air in a thunderstorm that has reached its mature stage.


____________________________________________________________________________________

***   continued on back   ***
True or False:  ( 1 point each )
18) T  /  F  --  Descending air cools because of expansion.
19) T  /  F  --  Ascending air cools because of expansion.
20) T  /  F  --  A gas cools when it expands.
21) T  /  F  --  All life on Earth lives in the tropopause.

22) T  /  F  --  The boundaries between the layers of the atmosphere are defined by air temperature.

23) T  /  F  --  Even very intense thunderstorms cannot build much higher that the tropopause.
Diagram: ( 11 points )
24 - 32)  Complete the diagram of the layers of the atmosphere below; including labels, lines that represent layer boundaries, and a Y axis scale with altitude increments.

[image: image1]
Fill-in-the-blanks:  ( 1 point each )
The three broad categories that Meteorologists use to classify clouds are:


33) ____________________

34) ____________________

35) ____________________
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